15T ISSUE

Hi-WALL
STANDARD DRAWINGS 2017

Hi-WALL

CONTROL ISSUE:




Hi-Wall Standard Drawings Register 2017

DRG. No. REV. DESCRIPTION

m |:| Stud Fabrication Detail

m |:| Header Fabrication Detail
m :| Deflection Header Fabrication Detail
m |:| Zed Hanger Fabrication Detall
m :| Flat Brace Fabrication Detail
m |:| Cleat Fabrication Detail

[ ] Fixings Order Form

ISl [ ] Hi-WALL Standard Drawings - Complete Set



_____________________________________________________________________________________________________________________________________________________________________________________________________

OVERALL LENGTH

ﬁ E—
— - - m_ - ————
:ﬂ B
SECTION DIMENSIONS
REF A B C
A A $7050 25 70 50

f + f S7066 33 70 66

S10050 | 25 100 | 80
S$10066 | 38 100 | 66
S15050 | 25 160 | 80
S$15066 | 38 150 | 66
m §$20066 | 33 200 | 66
§$226566 | 33 225 | 66
S$25580 | 40 266 | 80

H 528575 | 75| 285 | 75 | MARK: || No. RQD AS DRAWN:; |
$28580 | 40 28 | 80
C S30575 | 375] 306 | 15 | MARK: || No. RQD QPP HAND: |
HASPAN [DRGTITLE:  STUD FABRCATION DETAL ||| DRAWN BY: || DATE: ||| cUSTOMER: |
Ayton Road Wymondham
Nowich, Noriok, NATE 5D NOTES:  1: ALLHOLES 18 DIA. UN.O . | CHKD BY: || DATE: ||| ORDER REF: |
Toeghore,  oressnace 2; COUNTERFORVED HOLES IN WEB MARKED , _ , :
. e o 3 COUNTERFORMED HOLES N FLGMARKED  X( (DRG No: o] [Rev: | [SSUE: 1t BSUE | SKETCH No: |
Hi-WALL = oo | SECTION REF; ||| H-SPAN JOB No: |




OVERALL LENGTH

SECTION DIMENSIONS SECTION DIMENSIONS
RF | A | B |C RF | A | B |C
A A H7535 175 76 35 H20570 | 35 205 | 70
——t H7567 | 285| 15 | o1 H23040 | 20 | 230 | 40
H7565 325| 75 65 H230685 | 325| 230 | 65
H105 42 21 106 | 42 H26040 | 20 260 | 40
H10644 | 22 106 | 44 H26070 | 35 260 | 70
H 105 65 325| 105 | 65 H 27040 20 270 | 40
m H 155 40 20 186 | 40 H29070 | 36 290 | 70
H18662 | 31 185 | 62 H31040 20 310 | 40
H20540 | 20 205 | 40 H31072 | 36 310 72 ‘ ‘ ‘
MARK: No. RQD AS DRAWN:
o | MARK: || No. RQD OPP HAND:
HLSPAN L1, IDRGTITLE:  HEADER FABRICATION DETAL ||| DRAWN BY: || DATE: ||| CUSTOMER:
Ayton Road,Wymondham -
Nomich, Nedok, NR18 05 NOTES:  1: ALLHOLES 18 DIA UNO |CHKDBY: || DATE; ||| ORDER REF:
: 2: COUNTERFORMED HOLES IN WEB MARKED
o X DRG No: v-0od [Rev: | [ISSUE: 15t 1SSUE || SKETCH No:
. e e 3: COUNTERFORMED HOLES INFLG MARKED  IX(
HI-WALL . e | SECTION REF: ||| H-SPAN JOB No:




OVERALL LENGTH

SECTION DIMENSIONS
REF A | B | C

DH7566 | 325| 75 66

DH10565 325| 105 | €5

DH16662| 31 195 | 62

DH20570| 35 206 | 70

DH23065 325| 230 | 65

DH26070, 35 260 | 70

DH29070| 35 290 | 70

DH31072| 36 310 | 72

STUD CENTRES

6mm x 30mm SLOT IN FLANGE OF HEADER

| MARK: || No. RGD AS DRAWN:
o | MARK: || No. RQD OPP HAND:
HSPAN Lt |DRGTITLE:  DEFLECTION HEADER FABRICATION DETAL ||| DRAWN BY: || DATE; ||| CUSTOMER: |
Ayton Road,Wymondham
Nowich, Norfok, NR18 GRD NOTES:  1: AL HOLES 18 DIA UN.O }g{ |CHKDBY: || DATE; ||| ORDER REF: |
Teeotons, ot ecane 2: COUNTERFORMED HOLES IN WEB MARKED . _ : :
. e oo 3; COUNTERFORMED HOLES INFLG MARKED X[ (DR Noro [ R || ISSUE: 1 S | SKETCH No |
HI-WALL . e | SECTION REF: ||| H-SPAN JOB No: |




OVERALL LENGTH

SECTION DIMENSIONS

REF A | B | C

M7 5 | 77 | 78

ZH107 | 50 | 107 | 78
ZH157 | 50 | 157 | 78
H212 | 50 | 212 | &
H232 | 50 | 232 | 78
m H262 | 650 | 262 | 8
H22 | 50 | 22 | &8
H312 | 80 | 312 | 8

| MARK: || No. RGD AS DRAWN:
o | MARK: || No. RQD OPP HAND:
HLSPAN L1, IDRGTITLE:  ZED HANGER FABRCATION DETAL ||| DRAWN BY: || DATE: ||| CUSTOMER:
Ayton Road,
mechoiom Eﬁhg . NOTES:  1: AL HOLES 18 DIA UN.O |CHKDBY: || DATE; ||| ORDER REF:
Telephone: 01953 603081 2: COUNTERFORMED HOLES IN WEB MARKED }X{ ; ) . ’
n e oo 3; COUNTERFORMED HOLES INFLG MARKED X[ [DRG Not 04 [Row: ] [BSUE: 1SS | SKETOH o
HI-WALL . e | SECTION REF: ||| H-SPAN JOB No:




OVERALL LENGTH

T SECTION | DIMENSIONS
REF A
<<
B&0 50
B 100 100
N | MARK: || No. RGD AS DRAWN:
| MARK: || No. RQD OPP HAND:
HLSPAN L1, IDRGTITLE:  FLAT BRAGE FABRIGATION DETAL ||| DRAWN BY: || DATE: ||| CUSTOMER: |
Ayton Road,Wymondham -
Nowich, Norfok, NR18 GRD NOTES:  1: AL HOLES 18 DIA UN.O }g{ |CHKDBY: || DATE; ||| ORDER REF: |
Teestons: 01553 605081 2; COUNTERFORMED HOLES IN WEB MARKED
‘ *HW- ! ! 1stISSUE :
= oo Soree 3: COUNTERFORMED HOLES INFLGMARKED  JX( ‘DRG No: v OO# ‘Rev ‘ ‘ SSUE s ‘ ‘ SKETCH No

Emal; Ical@hi-span.
Hi-WALL . e

| SECTION REF:

| H-SPAN JOB No:




STANDARD CLEATS CLEAT REF.
CLT 7015 150 mm LONG CLT 7015 No. OFF
CLT 10015 150 mm LONG CLT 10015 No. OFF
CLT 15015 150 mm LONG CLT 15015 No. OFF
CLT 20016 150 mm LONG CLT 20016 No. OFF
CLT 22516 150 mm LONG CLT 22516 No. OFF
CLT 25516 150 mm LONG CLT 25516 No. OFF
CLT 28516 150 mm LONG CLT 28516 No. OFF
CLT 30516 150 mm LONG CLT 30516 No. OFF
CONTINUOUS WALL CLEATS CONTINUOUS WALL CLEATS
SECTION DIMENSIONS SECTION DIMENSIONS
REF A B C D LENGTH REF E F G K LENGTH | H LENGTH | J LENGTH
cw7o 30 | 0 17 mm No. OFF AWTQ 7 1 30 17 mm mm mm No. OFF
CW 100 40 50 20 mm No. OFF AW 100 20 50 20 mm mm mm No. OFF
CW150 40 100 | 20 mm No. OFF AW 150 20 100 | 20 mm mm mm No. OFF
CW 205 40 150 | 20 mm No. OFF AW 205 20 150 | 20 mm mm mm No. OFF
CW 255 40 200 | 20 mm No. OFF AW 255 20 200 | 20 mm mm mm No. OFF
CW 305 40 250 | 20 mm No. OFF AW 3056 20 250 | 20 mm mm mm No. OFF
e T T ] E—
Q © Q
y =
w
X
S s 1S2
@
K LENGTH E F | 6mm x46mm SLOTTED HOLES
o 1 1
Nﬂli H g
<
S| <
- -
J D LENGTH B C J 6mm x 46mm SLOTTED HOLES J G H LENGTH J LENGTH J 6mm x 46mm SLOTTED HOLES
T T T T
Hi-SPAN Ltd. \ DRGTITLE: CLEATS - ORDER FORM \ \ DRAWN BY: \ \ DATE: \ \ CUSTOMER:
Ayton Road,Wymondham -
Nomwich, Norfolk, NR18 ORD NOTES: ‘ CHKD BY: ‘ ‘ DATE: ‘ ‘ ORDER RHEF:

Telephone: 01953 603081
Fax: 01953 607842

Hi_w ALL ‘EV”;E‘:‘J technical@hi-span.com

VWWW.hi-span.com

|DRG No:HW:cog |Rev: || ISSUE:  7stISSUE|

| SKETCH No:

| SECTION REF:

| H-SPAN JOB No:




EJOT RXING REFERENCE APPLICATION EJOT FXNG REFERENCE APPLICATION
STEEL TO CONGRETE DRLL ACGESSORES
403 x52 FIXING 1.2im - 4.0mm STEEL TO CONGRETE Mo. OFF REISSER 5 X 10mm SDS DRLL AT MASONRY No. OFF
4188 x5 (5mm CONCRETE PLOT, 7mm STEEL PLOT) No. OFF 5 x 60mm HSS DRIL BT STERL - OFF
4H6.3x67 ' No. OFF P2 DRIVE BT STD No. OFF
TIMBER TO STERL P2 DRVE BT 50mm No. OFF
1568 x32 FXNG 0.5mm - 1.2mm STEEL TO TMBER No. OFF P2 DRVE BIT 100mm AL P2HEAD FXINGS No. OFF
TS6.3x45 (7mm PLLOT REQURED) No. OFF P2 DRVE BIT 150mm No. OFF
TS6.3x60 No. OFF P2 DRVE BIT 200mm No. OFF
METAL (FINE THREAD) MAGNETIG BT HOLDER 60mm No. OFF
HS 5538 No. OFF MAGNETIC BIT HOLDER 150mm OLDS ALL STANDARD HEXDRNVE BITS No. OFF
HS 8.5 86 GENERAL STUDITRKIBRACING, COMBINED THOKNESS No. OFF 8mm MAGNETIC HEX SOCKET ALL EJOT HEX HEAD FIXNGS No. OFF
HS 5.5 X 65 4o 125, HEX HEAD SCREW No. OFF 8mm MAGNETIC HEX SOCKET (o) No. OFF
HS65X76 ' S No. OFF M12 STUD x 160 No. OFF
HS 6,5 %100 No. OFF RAWLPLUG RESN CARTRIDGE No. OFF
HSOF 6.5 %38 SAVE AS ABOVE BUT LOW PROFILE HEAD RAWLPLUG MXER NOZZLES No. OFF
METAL (COARSE THREAD) RAWLPLUG MXED GUN No. OFF
NS 10 GENERAL STUDITRK/BRACING, COMBINED No. OFF HOLE GLEANING BRUSH No. OFF
' THOKNESS UP TO 3.0mm, LOW PROFLE HEAD RAWL BLOW PUMP No. OFF
o662 GENERAL STUDITRK/BRACING, COMBINED No. OFF 14 Dia x 210 SDS MASONRY DRLL BT No. OFF
' THCKNESS UP TO 6.0mm, LOW PROFILE HEX HEAD BOLT SETS
SCF85x26 GENERAL STUDITRK/BRAGING, COMBINED No. OFF M12 x.25 BZP No. OFF
' THCKNESS UP TO 3.0mm, LOW PROFILE HEAD M12 x30 BZP No. OFF
BOARDING TO STEEL M12 x 35 BZP No. OFF
WDHS 6.5 x65 SNGLE LAYER PLASTERBOARD T STEEL STUDS No. OFF M12 x40 BZP No. OFF
WDHS 6.5 85 4-12 STEEL BULD-UP, WAFER HEAD, WING TP, No. OFF M12 x 45 BZP No. OFF
WDHS 65 x 119 CLAMPING GAPACITY DEPENDS ON LENGTH OF TEK. No. OFF M12 x50 BZP ALL BOLTS MUST BE ORDERED FROM A CE No. OFF
WDLS 5.5 x50 No. OFF M12 x 60 BZP ACCREDITED COMPANY WITH FULL No. OFF
WDLS 55 x65 No. OFF M12 x 65 BZP TRACEABLITY AND BOLTS MUST BE A No. OFF
WDLS 6.5 85 mﬂmfgfcﬁﬂ%ugg éﬁ%%%;"gﬁ No. OFF M16 x40 CSK BZP MNIVUM GRADE 8.8 TO IS0 STANDARDS No. OFF
WDLS 6.5 X100 No. OFF M16 x35 GALV No. OFF
WDLS 6.5 x 127 No. OFF M20 x 60 BZP No. OFF
TBF 4830 GHPBOARD, PLY OR 0SB BOARDING 18mm - 22mm THK No. OFF M20 x 80522 Ro. OFF
ToF 48 x5 TO 0.9mm - 3.0mm STEEL, WAFER HEAD, WING TP No. OFF M20 x 190 B0 No. OFF
TBF 4.8 X60 omm -3 ' ' ' No. OFF M20 x 120 BZP No. OFF
HLSPAN L1, [DRGTITLE:  FXINGS - ORDER FORM ||| DRAWN BY: || DATE: ||| CUSTOMER:
Ayton Road,Wymondham
NOTES: |CHKD BY: || DATE ||| ORDER REF:

Norwich, Norfolk, NR18 ORD

Telephone:
Fax:

Hi-WALL .2

01953 603081

01953 607842
technical@hi-span.com
VWWW.hi-span.com

|DRG No: HW:0o7 | Rev:  |[ISSUE:  15tISSUE| || SKETCH Nos

| SECTION REF:

| H-SPAN JOB No:




